ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1959

(1

APR.		FP.					195	9
	25	н	MURRAYFIELD	74	3*	*	*	D
may	2	н	DUNFERMLINE	114	6*	50	9	D
	9	A	HERIOT'S FP.	96	10*	97	2	L
	16	н	LETTH PRANKLIN	155	3*	. 107	9	W
	18	A	MANDERSTON	133	7*	45	8	D
	23	A	EDIN . ACADS .	153	10*	154	2	L
	30	A	MELVILLE COLL. FP.	131	10*	133	5	L
Jon.	6	A	GRANGE	169	10	דרו	64	L
9	.10	н	EDIN. UNIVERSITY	194	6*	149	9	D
	13	A	WATSONIANS	156	8	193	6*	D
	20	н	CARLTON	145	10*	1477	5	L
	27	A	- STEWART'S COLL. FP.	64	2	63	10*	W
JUL.	4	A	GLAS GOW HS . FP.	61	7	60	1004	W
	11	н	SELICIRIC	130	6	128	10*	W
	15	н	RHS. PP.	116	9*	98	10	w
	18	н	ST. BOSWELLS				+	off
	21	н	YORK WANDERERS	108	10	128	8*	L
	25	A	HAWIOK & WILTON	139	8	138	10*	W
AN6-	1	ч	STENHOUSEMUIR	90	10	160	8*	L
	8	A	KIRKCALDY	130	5	129	10*	W
	15	н	KELBURNE	172	6*	176	7	L
	22	A	BRUNSWICK	39	0	38	10*	W
	29	н	PERTHSHIRE	109	10	156	4*	L
SEPT.	5	н	TRINITY ALADS	192	4 *	193	6	L
	12	н	GALASHIELS	140	7*	134	8	D

KF. CAMPBELL	6	6	1	24*	47	9.40						3
RR. DAYSDALE	18	15	5	70*	247	24.70	67.5	13	191	-	17.36	1
DJ. ESSERY	2	2	•	I.	1	0.50						2
PAJ. GARDINER	4	4		8	25	6.12	27	4	82	3	27.33	
DJ. GILROY	23	23	5	92	523	29.05	85	2	27	3	9.00	4
JS. GLENDINNING	7	6	3	15	44	14-66	25	3	92	з	30.66	1
GI. GRAHAMSLAW	21	15	5	43	116	11-60	121	34	314	23	13.65	6
KA.GRANT	18	17	1	103	218	13-62	15	3	38	1	38.00	1
AW. HARPER	18	18	. 1	54	337	19.82						14
GA. HENRY	16	13	•	19	123	9.46	3		18	F	18.00	4
JB. JOHNSON	22	10	5	8*	17	3.40	284'	85	579	42	13.78	1
EH. KILPATRICK	11	3	1	t	1	0.50	98	21	261	21	12.42	5
DR. LAWRENCE	12	. 4	2	19*	34	17.00	99'	24	272	14	19.42	4
RN. LEUCHARS	5	4	•	16	23	5.75						2
AP. M. GREGOR	17	17	1	60	335	20.93	10		34	1	34.00	8
AJ. MENDELSON	i	*	*	*	*	*	5	2 .	8	2	4.00	1
PO. THOMAS	23	22	4	80	523	29.05	132	1	63	•	oc	8
AMC. THOROURN	16	9	3	29*	106	17.66	972	9	368	22	16.72	4
AWW. THOREURN	4	2	1	3*	3	3.00	28	2	109	•	oc	
AJN. TILLEY	6	4	•	35	47	11.75	2	1	5		0C	2
DS. VALENTINE	2	L		0	0	0						
GS. WATSON	12	0	1	20	50	5.00	765	16	236	19	12.42	

ROYAL HIGH SCHOOL F.P. A XI

				RHS F	.P.	OPPONENT	5	
APR.	25	A	MUIRHOUSE	36	۱*			D
MAY	2	A	PENICUIK 2	54	9	53	10*	W
	9	н	HERIOT'S F.P. 2	47	10*	48	2	L
	16	А	HERIOT'S F.P. 2 (*) LEITH FRANKLIN 2 (*)	196	10*	99	10	W
	23	Н	NEWTONGRANGE LOTHIAN	153	7*	49	10	W
	30	A	MELVILLE COLLEGE F.P.2	174	6*	123	0	W
JUN.	6	H	BRUNSWICK 2	173	6*	95	9	3
	13	14	WATSONIANS 2 🛞	125	8	121	10*	W
	20	A	CARITON 2 🛞	152	8*	bi	10	3
	27	Н	STEWART'S COLLEGE F.P. 2	83	١	82	10*	V
Jar.	4	H	NEWINGTON	<u>ଓ</u> ବ	5	87	10*	V
	11	A	BURNTISLAND	90	10*	87	10	Z
	18	A	EDINBURGH ACADEMICALS 2	228	4*	119	10	V
	25	Ħ	LEITH ALBION	205	9*	128	10	W
AUG.	1	A	STENHOUSEMUIR 2	34	10	150	7*	1
	8	Н	HADDINGTON	142	6*	146	4	L
	15	M.	LETTH ACADEMICALS	109	10*	110	7.	2
	22	Н	HOLY CROSS ACADEMICALS	72	3	71	10*	W
	29	Н	MEADOWBANK	25	0	23	10*	W
SEPT	1.5	A	DUNBAR					OFF

P. 19 W. 14 D. 1 L. 4 OFF. 1

ROYAL HIGH SCHOOL F.P. : 2127 RUNS : 123 WICKETS : AVERAGE 17-3 : 1712 RUNS : 159 WICKERS : AVERAGE 10.8 OPPONENTS



(*) EAST LEAGUE - GRADE A (JOINT CHAMPIONS WITH WATSONIANS).

		CAPT. : R.G	RAHAM				1950
MAY 9 16 23 50HE 6 13 20 27 50HZ 4 11 25	HHHHHHHHHHH	WATSONIANS 'B TRINITY ACADEMICALS A ST. MARY'S INNERLEITHEN LEITH ACADEMICALS A EDINBURGH POST OFFICES STEWART'S COLLEGE F.P. B GEORGE HERIOT'S SCHOOL F.P. B CARRICK KNOWE EDINBURGH ACADEMICALS B	77 86 83 71 65 76 30 78 137 142	10* 105* 105* 107* 210* 8*	78 83 121 79 100 80 29 78 78 135 137	1796055080g	0 × 0 × 1 0 1 0 1 0
		P.10 N.2 0.4 L.4					
		RASEP : 856 RUNS : OPPONENTS : 923 RUNS :	80 WICKETS: 75 WICKETS:				